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0[0F & ASHE B0, 7|5 BRI 27I5H0F & 20| YL
o Tj7 XIS CIYBICE (1010112 1217 5)
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HAl0| 53
o 3z 2Al(inline style) [ f(x
o B34 2 Al(display style)
'y
a-b
Fw)ds W

$\int_a"b f(x) dx$
\[ \int_{a}"b f(x)dx \]
\begin{equation}

\int_{a}"b f(x)dx
\end{equation}
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= £Al(inline) 1t Hali4-Al(display)

02t

Ji £ (x)dx
$\int_a"b f(x)dx$
f(x)dx

\[ \int_{a}"b f(x)dx \]

\begin{equation}
\int_{a}"b f(x)dx

\end{equation}

@
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o H| Ztul & HIES 2AISICE \,, \quad \qquad \hspace{...} 2} &

rlo

FEUZ ZHGHOF ottt

o 81 S GIEIX| QL SHLIC| 242 02 2HOZ X 4 YLt
* 2t BXE BLHOR FFHC

\usepackage{amssymb,amsmath}

\begin{equation}
\forall x\in \mathbb{R}: VreR: 2> 0. 3)
\qquad x~2 \geq O.

\end{equation}
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BTEXS] BZ 0= DtefO[E Q| 210 T2t { } 40

a"x+y =a"x a’y

a~{x+y} =a"x a’y

[—

=

8/85



—

\ [

—

O|2Z2 $b=f'(0)$0|C}. M2tA X} ZAIEHEA] $pGo$\= HIZ HML| A $£(0)+£' (0)x$0|Ct.

$0=£ (0)-p(0)=£f (0)-a$0| 22 $a=f(0)$0|D
0=\1lim_{x\to 0} \frac{f(x)-(at+bx)}{x} = \lim_{x\rightarrow 0}
\left (\frac{f (x)-f(0)}{x}-b \right)=f'(0)-b \]

- Sp(0$\E A 2HOUIM $£(x0)$2] \textbf{AUX} ZAICtEA} 0|2t

- M2tist 0|&Zst p.120

=H=
i

Ct. of rH
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4

A

x
b
mo

-

—  $n$0f| CHSHO]

\[ \mathbb{R} n :

- \]

Al 0O

O] \textbf{E=AMA} $(a,b)$ HXN2| ZES $\mathbb{R}"2$, M| AL
(a,b,c)$ MAQ| ZES $\mathbb{R} 3$2 2 LIE{H T

, YEt o= Xtoi

=\{(a_1,a_2,\1ldots,a_n) \biggm| a_1,a_2,\ldots, a_n \in \mathbb{R} \}

Z FEA|SIC. \footnote{Z}ZF...}

- M2CHarm 0| p 149
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Of2{71X| 28 E

e MM \overline, \underline

a+b=a+b
e £ =S \underbrace, \overbrace
14---+1
—_——
n
o Hil

HIE| \vec, \overrightarrow, \overleftarrow

a=(3,0,0)

id=o" " -0
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02

ne

o

JH

(o]l

\[\begin{matrix}

_ o >

— o >

N

—oa >

w S 0O

N

w = 0O

N

w S 0O

A & B & C\\

d & e & f\\
1&2&3\\
\end{matrix}\]

\[\begin{pmatrix}

\end{pmatrix}\]
\ [\begin{bmatrix}

\end{bmatrix}\]
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underset, overset

ba%{ilrne $\underset{under}{baseline}$

over

baseline $\overset{over}{baseline}$
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Multiple Limits

E ajibjrcyi

1<i<p
1</<q
1<k<r

\sum_{\substack{1l\leq i\leq p \\

1\leq j\leq q\\

1\leq k\leq r}

}

a_{ij}o_{jk}c_{ki}
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text in maths

A= {xeR|x* =a, where ais positive} .

A=\1left\{ x\in \mathbb{R} \bigm| x"2=a, \text{ where $a$ is positivel} \right\}

C—
o el

\let\originalmiddle=\middle
\def\middle#1{\mathrel{}\originalmiddle#1\mathrel{}}

A=\1left\{ x\in \mathbb{R} \middle x"2=a, \text{ where $a$ is positive} \right\}

15/85



2telgl gl AlS XX (label and cross-references)

BTEXZ AtESH= E T2 2 0] & ofLf.
\label{2tH 2} \ref {2t H} \eqref {2} H} \pageref {2t 2}
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o2l 9l AlS ZtX(label and cross-references)

Note that
\begin{equation}\label{eq:1}
A\leq B
\end{equation}
and
\begin{equation}\label{eq:2}
B \leq A.
\end{equation}
So by (\ref{eq:1}) and \eqref{eq:2}, we conclude that $A=BS$.
Note that
A<B @)

and
B <A. (5)

So by (4) and (5), we conclude that A = B.
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Contents

2. Mathtools?} 042{7}X| &t
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mathtools: amsmath?| Sttt

mathtoolst amsmath®| MO Z amsmathUA LAZUE HOE TX|10, 0] Ij7|X|E 0|Z81H 7|&0|

SAURTOIN 25| FSUE SHSS e S12E + U
\usepackage [=41] {mathtools}
849 BRS

e flegn, legno, regno

® centertags, tbtags,

e sumlimits, nosumlimits, intlimits, ...
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C=4Al5tA(split,aligned)

1 )
}U(x)::pw.;rﬂgjffldy
6)
1
= lim 7/ 1O) 4,
e=0 T Jix—y|>e X =Y
\begin{equation}
\begin{split}

Hf (x) &=\mathrm{p.v.}\frac{1}{\pi}\int_{\mathbb{R}} \frac{f(y)}{x-y}dy\\
&=\1im_{\varepsilon \rightarrow O}\frac{i}{\pi}\int_{lx-y|>\varepsilon}
\frac{f (y) Hx-y}dy

\end{split}

\end{equation}
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C=4Al5tA(split,aligned)

p.v.Al 1¥¥ldy
TR @)

1
= lim Al/) ZIdey
e20 T Jix—y|>e X =Y

Hf (x) =

\begin{equation}

\begin{aligned}

Hf (x) &=\mathrm{p.v.}\frac{1}{\pi}\int_{\mathbb{R}} \frac{f(y){x-y}dy\\
&=\1im_{\varepsilon \rightarrow O0}\frac{1}{\pi}\int_{lx-y|>\varepsilon}
\frac{f (y) Hx-y}dy

\end{aligned}

\end{equation}
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CtE4=212t(align)
Hf(x) = p.V.% A %dy 8)
1 )
= lim — —d 9
El‘r’noﬂ'/\xfybsxfy Y ©
\begin{align}

Hf (x)&=\mathrm{p.v.}\frac{1}{\pit\int_{\mathbb{R}} \frac{f(y)}{x-y}rdy\\
&=\1im_{\varepsilon \rightarrow O}\frac{i}{\pi}\int_{|x-y|>\varepsilon}
\frac{f(y) Hx-y}dy

\end{align}
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CtS4=Al3tZ(aligned)

HE(x) / 9

(10)
— lim ,/ Mdy
€20 T Jix—y|>e X =Y

\begin{equation}

\begin{aligned}

Hf (x)&=\mathrm{p.v.}\frac{1}{\pi}\int_{\mathbb{R}} \frac{f(y)}{x-y}dy\\
&=\1im_{\varepsilon \rightarrow O}\frac{i}{\pit\int_{Ix-y|>\varepsilon} \frac{f(y)}{x-y}dy
\end{aligned}

\end{equation}
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align vs flalign

a1 = b1 a2 = bio a1 = b1 a2 = b1
az1 = box azz = baz + c22 az1 = box az2 = bao + c22
align 2t&4 flalign 2t
\begin{alignx} \begin{flalign*}

a_{11}& =b_{11}&
a_{12}& =b_{12}\\
a_{21}& =b_{21}&

a_{22}& =b_{22}+c_{22}

\end{alignx}

a_{11}& =b_{11}&
a_{12}& =b_{12}\\
a_{21}& =b_{21}&
a_{22}& =b_{22}+c_{22}
\end{flalign*}
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k=1 |

alignat 2t4
align2HZ0|HA| St 3ol HHEBS ot A} & [ MFHst 2H50|Ct
X=y1—Yy2+y3—ys+ys—... by
=y oy by
= y(0)y' by Axiom 1.
Poig IN F HE Lhs

\begin{alignat}{2}/
x& = y_1-y_2+y_3-y_5+y_8-\dots

&\quad& \text{by }\\
& = y'\circ y~* && \text{by F\\

& = y(0) y' && \text {by Axiom 1.}

\end{alignat}

(11)
(12)
(13)
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mathtools?| 0{2{7}X| ZH: 3

\begin{bmatrix}
1&2\\
-3 & 4
\end{bmatrix}

\begin{vmatrix}
1& 2\\
-3 & 4

\end{vmatrix}

\begin{pmatrix}
1 & 2\\
-3& 4
\end{pmatrix}
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mathtools?| 02{7}X| X sH

\begin{bmatrix*} [r]
1& 2\

-3 & 4
\end{bmatrix*}

e Option keys: |, ¢, r (c: default)

\begin{vmatrix*} [r]
1 & 2 \\
-3 & 4

\end{vmatrix*}

\begin{pmatrix*}[r]
1&2\\

-3 & 4
\end{pmatrix*}
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mathtools?| 0{2{7}X| ZH: 3

1 2 1 2
{—3 4}’ ‘—3 4
\begin{Bmatrix*}[r] \begin{Vmatrix*}[r]
1& 2 \\ 1&2\\
-3 & 4 -3& 4
\end{Bmatrix*} \end{Vmatrix*}

e Option keys: |, ¢, r (c: default)
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(o]
=
I

mathtools?| (42{7}X| &A:

)

'N®

inline0flA &2 M7|: smallmatrix*, ... (_3

smallmatrix*, psmallmatrix*, bsmallmatrixx,

[ ]
Bsmallmatrix*, vsmallmatrix*, Vsmallmatrixx*
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mathtools2| 042{7}X| &A: #0|A

t7{: amsmath

2

E =mc Nothingtoseehere

f x — 3dx Integralistextstyle

\begin{cases}
E=mc~2 & Nothing to see here\\
\int x -3 dx & Integral is text style

\end{cases}

31/85



mathtools2| 042{7}X| &A: #0|A

mathtools / dcases, dcases*, rcases, rcases”

E = mc* Nothingtoseehere
/ x — 3dx Integralistextstyle
\begin{dcases}
E=mc~2 & Nothing to see here\\

\int x -3 dx & Integral is text style
\end{dcases}
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mathtools2| 042{7}X| &A: #0|A

mathtools / dcases, dcases*, rcases, rcases”

2

E =mc Nothing to see here

/ x — 3dx Integral is text style
\begin{dcases*}
E=mc~2 & Nothing to see here\\

\int x -3 dx & Integral is text style
\end{dcases*}
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mathtools2| 042{7}X| &A: #0|A

mathtools / dcases, dcases*, rcases, rcases*

E =mc*  Nothingtoseehere

Jx—3dx Integralistextstyle

\begin{rcases}
E=mc”2 & Nothing to see here\\
\int x -3 dx & Integral is text style

\end{rcases}

34/85



mathtools2| 042{7}X| &A: #0|A

mathtools / dcases, dcases*, rcases, rcases*

2

E =mc® Nothing to see here

Jx—3dx Integral is text style

\begin{rcases*}
E=mc”2 & Nothing to see here\\
\int x -3 dx & Integral is text style

\end{rcasesx*}
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mathtools2| 042{7}X| &A: #0|A

mathtools / dcases, dcases*, rcases, rcases*

2

E =mc® Nothing to see here

Jx—3dx Integral is text style

\begin{rcases*}
E=mc”2 & Nothing to see here\\
\int x -3 dx & Integral is text style

\end{rcasesx*}
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mathtools: G st O|MZH 715!

\begin{align*}
a&=b \\
Z\vdots \\

&=c \\

&\vdots \\
&=d
\end{align*}
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mathtools: G st O|MZH 715!

\begin{align*}

a&=b \\
&\vdotswithin{=} \\
&=c \\
\shortvdotswithin{=}
&=d \\

\end{alignx*}
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mathtools: G st O|MZH 715!

o XtMlet DIMZ=E2

u]
a4

OFx|

OH
or

Ol...

\begin{align*}

a&=b \\
&\vdotswithin{=} \\
&=c \\
\shortvdotswithin{=}
&=d \\

\end{alignx*}
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3. HSE I{7|X| HHE Y|
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5. amssymb, bbm

St 250N UAS BHHGIIAL I THE YA O 2 HHGH= A 80| 2Tt oIS S0 fel MAQ Hes
ol g2t M7| HLk= Q2F 20| 20t
SEE AIol= BE UM = A9 EXM St (characterstic function)

1 ifxeA
La(x) =
0 ifx¢A
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&<: amssymb, bbm

\usepackage{amssymb}

0470l HE0AM 122 A blackboard bold(1)S M 11 AICHH
\usepackage{bbm}

2 preamble0f| MO ™ =IC}

$\mathbbm{1}$

ABCdefl2, ABCdef12

\mathbbmss{ABCdef12} \mathbbmtt{ABCdef12}
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ABC, $\mathcal{ABC}$

o BE, $\mathscr{ABC}$

ABC1, $\mathds{ABC1}$
ABCoef123, $\mathfrak{ABCdef123}$
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MnSymbol
® wasysym
® mathabx
® mathdesign

\usepackage{mathtools}

\usepackage{amssymb} /7 amsmathl} amssymb= mathspec O|H
\usepackage [MnSymbol] {mathspec} /% kotez O|X
\usepackage{kotex}
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* OIC/HE XME5| 0.
e detexify

® symbols-a4

44/85



oH

ZIA| BTEX Z2 73 US EAICH

° THNE i X|H 1 otH 0| HAEL. HI=2S MAL
\newcommand{\mycommand} [2]{ #1 #2}
\renewcommand{\mycommand} [2] {#1 #2}

\newcommand{\bZ}{{\mathbb{Z}}}
\newcommand{\norm} [1]{{\1left\Vert #1 \right\Vert}}
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HUES FOlot7| et YH: Ti2t0|H OfsH

o0 He i220 7i~E E= A0|Ct
\newcommand{O|E} [T}ZIO|E{7H ] [7 | 21{LH S}
([PNE

\newcommand{\mynotes} [2] [2 =] {#1

ro
ro
MO
=
o
X
i
do
|'_('J£
o
Ja
++
N
I°
i
_l"l_
-

\mynotes{EZ?}
(o)

\mynotes[L{ 21 {EZ}

46/85



HUES FOlot7| et YH: Ti2t0|H OfsH

o0 He i220 7i~E E= A0|Ct
\newcommand{O|E} [T}ZIO|E{7H ] [7 | 21{LH S}
([PNE

\newcommand{\mynotes} [2] [2 =] {#1

ro
ro
MO
=
o
X
i
do
|'_('J£
o
Ja
++
N
I°
i
_l"l_
-

\mynotes{EZ?}
(o)

\mynotes[L{ 21 {EZ}

* MRt A2 6Z0A CHEUC
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Z+23510{ mathtools 7|5

\DeclarePairedDelimiter{<cmd>}{<left_delim>}{right_delim}
\DeclarePairedDelimiter{\abs}{\1lvert}{\rvert}

$\abs{\frac{a}{b}}$ $\abs*{\frac{a}{b}}$ $\abs[\Biggl{\frac{a}{b}}$
%\big, \Big, \bigg, \Bigg

‘§| ‘ﬁ’ a
b’ bl b
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L2t 7|5t commutative diagram

= 7180| Commutative Diagram® Z0|C}.

ti=~3t, 7|otet MEAEH tisS =~ G
MLt MHME texdoc tikz-cd
——————————————————————————————— > {1}

tikz-cdIi7|X|

Figure: Galois correspondence of K/Q and G

& A FOiIA = xyTH7 [ K| 2L
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CH4=2t 7|6t commutative diagram A&

4L0M A ZME TikzZOj| et SES oA 22| GIAIS St THR 2L

G ——— »(G)

\usepackage{tikz-cd}

\begin{tikzcd}

G\arrow[r, "\varphi"]\arrow[d,"\pi"] & \varphi(G) \\
G/\ker \varphilarrow[ur,dotted,"\tilde{\varphi}"] &
\end{tikzcd}
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CH4=2t 7|6l commutative diagram A&

4L0A FAI TME TikzZ0j| et HES 2lohiA T2l HIAIS et THR {2}

G

s

¢(G)

G/kergé

\usepackage{tikz-cd}
\tikzcdset{arrow style=tikz, diagrams={>=stealthl}}

\begin{tikzcd}

G\arrow[r, "\varphi"]\arrow([d, "\pi",swap] & \varphi(G) \\
G/\ker \varphilarrow[ur,dotted,"\tilde{\varphi}", swap] &
\end{tikzcd}
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CH==, 715t

ORLAS
, o245t

st: algorithm

Algorithm 1 Finding minimal representatives of C(Z[©,]) when Z[0,] is a
Dedekind domain

1:
- while i < #C(Z[0,]) do

oW n

S

b

=1

for 1 <d< N do
for1<c<ddo
if fn(c) =0 (mod d) and (©,, — ¢, d) is not a principal ideal then
if i > 1 and [(©, — ¢, d;)] # [(On — ¢j,d;)] for any 1 < j < i
then
let (¢;,d;) = (c,d) and i =i+ 1;
end if
if i =1 then
let (¢;,d;) = (¢,d) and i =i+ 1;
end if
end if
end for
end for

: end while

. print (1,1,n);

. for 1 <i < #C(Z[0,]) do print (¢;, d;,n);
: end for

* M. Kim and S. Yamada, Ideal classes and Cappell-Shaneson homotopy 4-spheres, arXiv:1707.03860.
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ACE WO} O|HA| 73520

® minted / python 2
\usepackage{minted}

ListLinePlot [Accumulate[RandomReal [{-1, 1}, 1000]]]

Plot3D[{x"2 + y°2, -x2 - y 2}, {x, -2, 2}, {y, -2, 2},
RegionFunction -> Function[{x, y, z}, x72 + y~2 <= 4],

BoxRatios -> Automatic]
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LH A
=2 T

uln

A
HA

rr

* TeXO0| =412 XMelols g2 LE =T Z2 0| ZU =0

Ofol

x +y = max{x,y} + min{x, y}

z+y=max{z, y}+min{z,y}

o 2Lt M2 LIFMOF o= QAS0| U, O] ZOIM= 4] OIMZF} 4] T2

mjo

A4

o

o
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For $x<0$, we see that
\[  £(x)<0.\]
NOT

For $x<0,$ we see that

N[ £(x)<0\]

For x < 0, we see that

For x < 0, we see that
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Hugt =0 (2) e+E2 iz
° o322 FH= 20
\arccos \cos \csc \exp \ker \limsup \min \sinh
\arcsin \cosh \deg \gcd \lg \1n \Pr \sup
\arctan \cot \det \hom \lim \log \sec \tan
\arg \coth \dim \inf \liminf \max \sin \tanh
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T2 A= 20
o

\DeclareMathOperator{\sgn}{sgn}
\DeclareMathOperator*{\esup}{ess\,sup}

$\sgn(\sigma)$, $\esup_{x\in E} f(x)$
\[ \sgn(\sigma)\quad \esup_{x\in E} f(x).\]

sgn(o), esssup, . f(x)

sgn(o) esssupf(x).

x€E
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® XZA3| \quad, \qquad == \hspace{3em} 52 BHNE 0|&5t0] S ZHSICt

F,=F,_1+ F,_2, n>2.

Fn:Fn71+Fn72>nZ2~

\[ F_n
\[ F_n

F_{n-1}+F_{n-2}, \qquad n\geq 2. \]
F_{n-1}+F_{n-2}, n\geq 2. \]
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\def\quad{\hskiplem\relax}
\def\gquad{\hskip2em\relax}

*1emO|2 TIEAL MQ| 7t2Z0|

\s thin space 4 H 71742 1/6
\> thin space s HE 49 2/9

\s thick space S44 7= 7172| 5/18
\! negative thin space EAM FC 7tA9| -1/6

Table: =41 7t

i)
ot
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AN
o — —r-4

Kl

H (@) =4 W5 DMz

/ T de

ddy = rdrdf
(2n)!/ (n! (n + 1))
Vax

V/logx

\int_O0"\infty f(x)\,dx
dx\,dy=r\,dr\,d\theta

(2n) !/\bigl(n!\, (n+1) !\bigr)
\sqrt2\,x

\sqrt{\,\log x}

/0 ~ f(x)dx

dxdy = rdrdf
(2m)!/ (n!(n + 1))
V2x

\/logx

\int_0"\infty f(x)dx
dxdy=rdrd\theta
(2n) !/\bigl(n! (n+1) !\bigr)
\sqrt2x \\
\sqrt{\log x}
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AN
o — _T"4

Fl

H (@) =4 W5 DMz

[0,1) [0,1)
x%/2 x%/2
n/logn n/logn
I+ A2 Iy + A2
52! 52!
13!13!26! 13!13!126!
[\,0,1) [0,1)
x"2\!1/2 x72/2
n/\'\log n n/\log n

\Gamma_2+\Delta"2

\Gamma_{\!2} +\Delta"{\!2}
\frac{52!}{13! 13! 26!}

\frac{62!}{13!\,13!\,26!}
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st SARH (65) MRS
.  \1ldots RIAQ| JMO| L} & AMO| LIFOA MEfat mf: (1 —x)(1 —x2)... (1 —x")
o “\cdots O|RAHLMT|S, HA7|SOA Hafet If: A; x -+ x A,
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HQul

ro!

NI (5) Wy

ol

amsmath(mathtools) I{7 | X|0f| A K|Sot=s YE/UHE
® \dotsc ZHAIO|
® \dotsb O|SHAT|S, &H7|S AO]

® \dotsm &4 LIE AtO]

® \dotso
Then we have the series $A_1, Then we have the series A1,As, ..., the
— A_2,\dotsc$, the regional sum regional sum A; + Az + - - -, the orthogonal
— $A_1+A_2+\dotsb$, the orthogonal product A1Asz - - -, and the infinite integral
— product $A_1 A_2 \dotsm$, and the -y
— infinite integral ~/Al -/Ag :

\[  \int_{A_1} \int_{A_2} \dotsi.\]
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YW +ATH (6) ZS
® \left2 \rightE £0[H 49| F0[0 et 22RO 7|7t A2 £FE

o 5t=
F

[y

o

Il°£§

OI'

\left( \right\) ,
left7} QOH HIEA| CH2

[ eoeraa

—[--aro -

(x

6

_ 3
t) f/// (t) _

(x

=12
2

X

a

Zol=

£7(8)

\left\lbrack \right\rbrack, \left\langle \right\rangle

right7} UO{0F &f. BHE2 OILI2H| St M \left. £= \right. 5

[

\begin{align*}

&\int_a”x (-1 (-£'(£))\,dt \\

&=\1left[

—  =(x-t)f' (t)-\frac{(x-t)"2}{2}f' ' (t)
— \right. \\

&\quad \left.-\frac{(x-t) 3H6}f'"''(t)
— -\dotsb \right]_a"x

\end{align*}
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NSt $=AXHN (7) mathtools

\lim_{n\to\infty} \max_{p\geq n}

\1lim_{n\to\infty} \max_{p~2\geq n}
\1lim_{n\to\infty} \sup_{p~2\geq nK}
\limsup_{n\to\infty} \max_{p\geq n}

lim max lim max lim sup limsupmax
n—00 p>n n—00 p2>pn naoop2>nK n—oo PN
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Hust £AXH (7) mathtools

\adjustlimits \lim_{n\to\infty} \max_{p\geq n}

\adjustlimits\lim_{n\to\infty} \max_{p~2\geq n}
\adjustlimits\lim_{n\to\infty} \sup_{p~2\geq nK}
\adjustlimits\limsup_{n\to\infty} \max_{p\geq n}

lim max lim max lim sup limsupmax
n—o00 p>n p—oo p2>n n—oo p2>nK n—oo  p>n
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Hust £AXH (7) mathtools

V=\sum_{1\leq il\leq j \leq n} V_{ij}
V=\smashoperator{\sum_{1\leq i\leq j \leq n}} V_{ij}
V=\smashoperator [1] {\sum_{1\leq il\leq j \leq n}} V_{ij}
V=\smashoperator [r]{\sum_{1\leq i\leq j \leq n}} V_{ij}

= > Vi V=DV V=)V,

1<i<j<n 1<i<j<n 1<i<j<n

=2V

1<i<j<n
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1\

® \usepackage{mathtools}E &%
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mathtools 22 £ align,alignnat,flalignit Z2 A4S & ZAR0|= preamblelf| LSS USICY

\allowdisplaybreaks
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4] S0 2Z otLt MOF k=0 2t =HOMH 7| HEOIL

\intertext{text}
\shortintertext{text}

\begin{align*}

& =\int_{0} " {\infty}\left|\int_{0} {1}\frac{g\left (x\left(1+y\right)\right)}
{y~{1-\alpha}}dy\right| {p}rdx.

\intertext{Now by the Minkowski's integral intequality, we get 1}

\int_{0} "{\infty}\left|\int_{0} " {1}\frac{g\left(x\left (1+y\right)\right)}
{y"{1-\alpha}}dy\right| {p}dx &

\end{align*}
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A4 S7H0) 25 BILE MO} SH=G| £+ HHOHH7| AR
oo (x—l—t o 1+Y) g
/0 /0 |t| dx = / / 2——— 2 xdy| x Pdx
N ( (f_l'y)) ol s
0 0 y

Now by the Minkowski's integral intequality, we get
p 1 oo
s [ ([
0 0 »!

[ / TESI
- [/yl (/m\ (x <1+y>>”dx);dy}
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\usepackage [FM]{esvect}

option a b ¢ d e f
fleche -

v oo”
=

v
v
v
+

<l
&l
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AdF(inline)0fl M =4 O |(display) X3 2511 201Q

f €LY R)0|2HE= e Jga If (0)|dx < 0o THE LEHCE
$£\in {L"1(\mathbb{R}"d)}$0|E2l= ZH2
$\displaystyle\int_{\mathbb{R}"d} |f(x)|dx <\infty$Q [HE ZSIC}.

= =
feL @)ORERE [ [olds < cU T2 2

gl

Ct.
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Q= 2412 display REX2] 511 41012,

Of SH=2A| Z[M0[X| 2 ChE 1 22 LHES preambledf Z=Ct.

\lineskiplimit=2pt \lineskip=5pt
\everymath{\displaystyle}
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MZ 2| Ol &AL ¢ HAL /IXIE #I0 =12 HOL

/f(x)dx

a

\int\limits_a"b f(x)dx

DE MEJ|SE A% Z0| MIIXt SHHH \usepackage [intlimits] {mathtoos}} MM EC}
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Jcode by Heiko Oberdiek
\makeatletter

JRoman counter
\newcounter{roem}

\renewcommand{\theroem}{\roman{roem}}

7 save the original counter
\newcommand{\cQorg@eq}{}
\let\c@orgleq\c@equation
\newcommand{\org@theeq}{}
\let\org@theeq\theequation
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Z\setroem sets roman counting
\newcommand{\setroem}{
\let\c@equation\c@roem
\let\theequation\theroem}

Z\setarab the arabic counting
\newcommand{\setarab}{
\let\c@equation\c@orgleq
\let\theequation\org@theeq}
\makeatother
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(\setroem)

(\setarab)

f(x) :/sinxdx
1

gx) = X dx
F(x) = —cosx
G(x) =Inx
f'(x) = sinx

1

(14)

(15)

@
(i)

(16)
(17)
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\everydisplay\expandafter{\the\everydisplay\def
\baselinestretch{1l.2}\selectfont}
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-1 2 \—1 2/

Before After
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\usepackage{mathtools}

\begin{pmatrix*} [r]
-2 & 3\\

1& -2
\end{pmatrix*}
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\makeatletter
\newcases{PDEcases}{\quad}{/
\hfil$\m@th\displaystyle{##}$}{{##}\hfil}{\lbrace}{.}

\makeatother

\begin{PDEcases}

-\nu \triangle u +u \cdot \nabla u +\nabla p =f&in $\Omega$\\
\Div u =0& in $\Omega$\\

u=0& on $\partial \Omega$,

\end{PDEcases}

—vAu+u-Vu+Vp=f inQ
divu =0 inQ
u=0 onos,
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\[
\left\{
\begin{alignedat}{2}

-\triangle u +\nabla p &=-w\cdot \nabla w +f&&\qquad \mbox{in $\Omega$},\\
\mathrm{div}\, u &=0&&\qquad \mbox{in $\Omega$l},\\
u&=0 &&\qquad \mbox{on $\partial \Omega$l},

\end{alignedat} \right.
\]

—Au+Vp=—-w-Vw+f
divu =0
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\usepackage{empheq}

\begin{empheq}[left = \empheqlbracel{alignat* = 2}
-\triangle u +\nabla p & =-w\cdot \nabla w +f &\quad & \text{in } \Omega,\\
\mathrm{div}\, u & = O&\quad & \text{in } \Omega, \\
u & =0 & & \text{on }\partial \Omega.
\end{empheq}
—Au+Vp=—-w-Vw+f inQ,

divu =0 in Q,
u=20 on 0.
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\begin{align*}

a & = b\\

& \stackrel{\text{(1)}}{=} c\\

& = b\\

& \stackrel{\mathclap{\text{(1)}}}{=} c\\
& =Db

\end{align*}

* 2=5(Jongheun YOON)= 9| alie
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Munkreszi2| Topology 7|SX& 7 & YA 2 M?

A topology, denoted by T

TEXQ 2= 7|X7t R2& OtUCLE mtpro2 IH7|X|IE AOF BiTY. 11 Q0= R= A Ii7|X7t & RAC.
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